TUTOR MARKED ASSIGNMENTS

UNIT 3, SECTION A

1. A shipowner's estimated total call is set at US $ 3,00 per GT for 15,000 GT general cargo vessel.If he pays the advance call by instalments and a full final

supplementary call how much will he to pay on each occasion ? If the claims against are UD $28,000 for that year what is the vessel's loss ratio ? Do you think this is acceptable ? Briefly explain why ?

ETC US $3,00 X 15,000 GT                   =   ETC     US $ 45,000 ,-

ETC  =  Advance Call + Supplementary =   total      US $ 45,000.-

Herewith I understand that estimated total call, including supplementary, don’t change on the end of the period of first 12 months, therefore if this amount paid in three instalments, shipowner has to pay US $15,0000 on each occasion.-

If the Claims are  US $ 28,000 and here we see calls were max/min US $45.000

Than loss ratio we can calculate : 28,000/45,000 X 100 = 62,22 %, I think this is acceptable , being the ship in question a general cargo vessel.-

SECTION B

4.) A 325.000 GT  ( GT ?) crude oil tanker suffers an accident leading to an oil spill in the United States.The clean-up costs and other related claims amounting

to US $ 425 million.Explain how these claims will be apportioned between the shipowner's P&I club, the IG and the commercial insurance market.If the claim had totalled US $ 1,215 million who would have paid what ?

Although I am not surre how this really works, I shall attempt answer this one,

Please correct me where I might be wrong.

Total Claim                                                                     US $       425 million

Shipowner  P&I Club (retention)     US $       5   million

Pool                                                US $     45   million

Excess Loss Reinsurance              US $   375   million

------------------------------------------------------------------------ 

Total  Claim                                    US $   425   million

What I am not surre is about 15% retention by the Pool.Does it apply to  balance excess loss or in excess of 50 mil per occurance  just come to fix sum 45 million?

If Total Claim                                                                   US  $  1.215 million

Shiopowner I&I Club (retention)       US $        5 million

Pool                                                  US $      45 million

Excess Loss Reinsurance                US $    450 million

Extra Cover ( if any)                         US $     200 million

Re-Insurance Contracts (O/Spill)     US $     515 million

-------------------------------------------------------------------------

Total Claim                                       US $  1,215 million

5 ) 

List and briefly describe four factors which you think may influence the overall forecast call income required by P&I Club.

Factor  one, CLAIMS, Claim record of the Club as whole . Claim's record of the Member in question, and through analisis of the claims experience in prevous years.-  IBNR factor here also plays a role .-

Factor two, ADMINISTRATION COST of the Association itself, this depends very much of the type of the Management of the Club itself.Administration cost usualy goes up, on regular basis.

Factor three, RESERVES, and actual solvency of the Club.As the  solvency margin required by Government is known in advance, this factor is always calculated in. As reserves should be reinvested may be I can cal this Club Investments.-

Factor four, REINSURANCE COST,  Commercial reinsurance markets are also changing their premium rates.Must say here that reinsurance cost can take as much as 25% to 30% of Club's annual income, but in long term it pays back and it simply can not be avoided.

This is extra one, in case that one of my answers is not good enough, please, then take in  consideration this one. -( We are in insurance business,  aren't we .-

6. ( I )What is a difference between a supplementary call and an excess supplementary  call ? I cant say it better than it is already said in the book :

Quote ; The Managers will review the policy year at the end of the first 12 months

Depending on the outcome of this review the Club will charge all or part of the balance of the ETC.This further charge is known as the supplementary call  and is normally expressed as a percentage of the advance call.-

6. ( ii ) What are IBNR's and why do they arise ?

 INCURED BUT NOT REPORTED  is a factor added to take account of the possible future increase in the total of claims for each particular policy year that has passed but is still open.Two main considerations influence the level at which this factor is set.The first is that incidents which will lead to claims have occurred but have not yet been reported to the Club or even the shipowners.(Strange but possible).The second is the possibility that liabilities in respect  of known claims may exceed the original estimates made.-This one seems much more likely to me.- 

The IBNR factor has become an increasingly significant aspect of the Club's calculations following the rapid growth in claims over the last few years.-

